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Warm Up Grade 8
> Oct.16, 2017

1) Evaluate the expression 5x+ 20 forx =6
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2) Evaluate the expression 4x -7 for x = 1, then for x=2 and x= 4
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Worksheet Solutions
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page 350 Homework
#1, #2 #3 #4 #7 #9.#10 . Solutions
1o 4y = —3b

by -7x=b3
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35 44=13
3of4-4 = 13-4
=9
gﬁ:i LS Rs
S 3 3att 13
3=3 30+
L guac Gi+4
Wice has 2 3
3)
a) 4x+9=-27 b) -5x+8=23 c) 3x-4=-3
4x+9-9=-27-9 -5x+8-8=23-8 3x-4+4=-3+4
4x = -36 -5x =25 3x =1
4x = -36 -5x =25 3x=1
4 4 5 5 3 3
X =-9 X=-5 x=1/3
c) 10=6x +5
6x +5=10
6x +5-5=10-5
6x =5
6x =95
6 6
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Using Tables
[""y\
W)
You can use tables and charts to help you solve equations.

Sometimes you will be given the equations (output) and you will be asked to complete
the table or find the missing numbers. Other times you will be given the table and you
will be able to figure out the equations.

Complete the following tables:
Ordered pairs are (X, y)
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You can use tables and charts to help you solve equations.
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Using Tables

October 16, 2017

Sometimes you will be given the equations (output) and you will be asked to complete
the table or find the missing numbers. Other times you will be given the table and you
will be able to figure out the equations.

Complete the following tables:

2% +4
FuAFHY
243+4

—3¥ | +2

! b (1, k)
2 G (2. %)
; o | (3, 10)
’ 122 | Wy
5 ESCNDY
: — | ( |\.")>
2 ~4 1 (2,-4)
I el I W)
4 ~In | (4,-10)

Homework pg. 356 # 4-8
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The equation is y=-3x + 4. Find the missing number in each
ordered pair.

™ O\ﬁ:‘- "
a) (-2, _) b) (__,

Xyv
Y = St
= -3x+Y v .
) :~3éL)*ﬂ 33 = 73X+
= o +y y
Y="10 ;\S,E = TSR eY=Y-
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